Class:9th

Test:Biology

Attempt ......... questions

" A macronutrient which is component of 2§ /"/l’/'b’;:lki EZATP 2 et

ATP, nuclei acid, and co-enzymes:
b) Iron
d) Boran

a) Phosphorous
¢) lodine
Gastric ulcer occurs in which organ:
b) Lungs
d) Liver

a) Stomach
¢) Kidneys
The diseases of Kwashiorkor and
marasums may be due to:

a) Mineral deficiency

b) Over intake of nutrients

c¢) Protein energy malnutrition

d) Ulcer

The most widely used cagbehydrates of
get energy is:
a) Maltose b)y<Sucrose
c¢) Glucose d) Lactose

Which diseas is caused by an insufficient
amount of iodine:
a) Scurvy b) Rickets
c) Malaria d) Goiter

The part of alimentary canal in which
maximum absorption of nutrients occur:
a) Oesophagus b) Stomach

¢) Small intestine d) Large intestine
Disease of Rickets occur in children due
to lack of vitamin:
a) Vitamin A b) Vitamin B
d) Vitamin D
The largest gland of the body is:
b) Heart

d) Gallbladder

¢) Vitamin C

a) Pancreas

c) Liver
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